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Example Candidate Responses — Paper 4

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Economics, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates.

Please refer to the June 2023 Examiner Report for further details and guidance.

The mark scheme is available on the School Support Hub

9708 June 2023 Question Paper 42

9708 June 2023 Mark Scheme 42

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 4

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner
comments.

Example Candidate Response — high Examiner comments
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“ The candidate begins their
response with some relevant
and clear definitions.

~

Examiner comments are
alongside the answers. These
explain where and why marks
were awarded. This helps you
to interpret the standard of
Cambridge exams so you can
help your learners to refine their
\exam technique. )

Answers are by real candidates in exam conditions.

These show you the types of answers for each level.

Discuss and analyse the answers with learners in the
classroom to improve their skills.

How the candidate could improve their answer

* The candidate’s first diagram needed greater commentary in the text.
+ The candidate’s second policy needed greater analysis in the text.

This section explains how the candidate could have
improved each answer. This helps you to interpret
the standards of Cambridge exams and helps your
learners to refine their exam technique.

Common mistakes and guidance

+ Candidates need to label their diagrams.
» Candidates should make reference to the diagrams in the text.

» An over-reliance on learnt notes prevented candidates fully answering the question which was set.
* It was noticeable that lower-level answers usually lacke

This section lists common mistakes as well as
helpful guidance from the examiner. This will help
your learners to avoid these mistakes. You can
use this alongside the relevant Examiner Report to
guide your learners.
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Question 1

Example Candidate Response — high Examiner comments
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T e L incorrectly labelled on the vertical

S 38y
~eay ¢ P

""fff._nmwm. somond and supply  di0geom showaon
ard ghift. 0o ogsrogote domond aurve dud- o

——Jadaibional_sponding i
St 0. m BRY pm(rw:

_These inikial

i “ﬂ\a mmhpuey eﬁwt% iﬂ PGUS':‘OH 0 ] o The candidate’s explanation of

actual growth is good.
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Example Candidate Response — high, continued Examiner comments

Lraken widtnin mﬁa@r\r AUNNED

Lin. qu pexxopiba. . for boun  Unina . _ond. Pa_lushln
| have Suhon. GU.LHKX 1w>. Px.uvd Wu% oo Impwvw'
,,,,,,DL\/IY\.O\) stondatdo. | an  tonsuunnes
.0t onte fo_ergsy .a.. Wra baolcerlr(} goagoaund,

la«o‘Hx wnries . how. gecseoned an.. an. ad/ta edfeu:
a& The. p,wereoz Ltonducred toy. Chira - _Thepe . owew
have

lheeone in b0t ounities .

d‘“ e b
GDP_pev_ capita _bare Wnaproved, dne .

| Arom.. _additional. . emonic. %voum is r\nrspv&aﬁl R
Jequaly in_fatiston ond tha. _addihonal

~Stondard. of hnr\ﬁ 1S on. IM{DOVt(u\i fotrov_in.. ""W‘PM“"-@ a’rﬂwvé'k\-

Taple it _ghowe.df Mmma@ nndxﬁ*aem: meo
(5} ndiodvy, 0}} gwum« Thate hesn leeon an ineosssd

e ot tounltien

Ad@uhor\w Ana.. WWPlWJQIL 6}

glcen._aoe o o opptiunihies AZAA.LCHT 0
‘%—ﬁ—w\wwﬁom S9Te 1 Dudpuk sl
|6w>e4 um.m:aao,e,oa,

LMHJJJ Hagind “’edﬂ"‘*w lf‘o/: Hrv\PUOde
AN w%um IS a oo h:&w. i ruonnd..
urw\,y ﬂ‘\.@ ff\iﬂl{\ul /h,o- wEfaqu
. m fjve.atu /h«o_ neome. . w\é,qmwl—lj

- TS SUgRRED. X alinaugh the . wnaviployment, anel..

ot

Luaned,.is
Aemain in fho SVEIoN L VE S W %e

—palistan.:. .. ¥0y (Jnma Jrm gini. weﬁa uent.

odwzem

b impreved, suggeomy Hhat Jrwoma i spread more

_evenly ond _intme. w,o;uaulj js. r@duurﬁ !eadlry to..

e Overall, the candidate provides
a good answer to this part of the
question. The candidate analyses
the data provided.

e The candidate provides an
explanation of the standard of living.

0 The candidate provides an
additional point and continues to
analyse the data.

e The candidate continues to
analyse the data.

e The candidate provides an
adequate conclusion.
Mark for (c) = 5 out of 6
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Example Candidate Response — high, continued Examiner comments
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0 The candidate provides another
positive aspect of the changes
taking place for the long run.

expenolihute L. 1eodke to_INCeeomecl OUTPUL. . @ The candidate’s explanation
‘ S STN /h\iou.gh e puaktipliee ... and the diagram were not credited
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,,Qz@w.-,. ekt aTm)
0

5> o
money qDP

- The..abbve.agey egate. expendibie din granafhewnan.
L OUE Wl @ hift INA9GXY.L9 kL Expeine ﬂut/&a&yhﬁ
Jsemed  yno re) PP —
_This pendiry  aep. n4€aeo W/@w ond ..
.,__._,.JB% cppu Y o it vaine.  [ivikg Standards. wd
| fospame  vecuncon biverry. fov peaple in PRI oo
_The wsage oy oo, headtny eviid fraato and

- t?,fﬁfa'.mm&/eotrjaﬁly.w.{ aoans 1L CConond e poutbn. i J@ @ The candidate refers to the
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@ The candidate expands upon
their point and demonstrates
why improved electricity is an
advantage.

. Cuna 1stmwl~f ot og PHL Ove - cmpaa&
L(/W(M Cann. fnadt. PYDAMCHY TRy Ui l] Ye. _an e
A Apurths U8 b hoed. ot ndly:. |

@ The candidate provides another
reason.
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Example Candidate Response — high, continued Examiner comments
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disadvantage and is awarded a
T further mark.

) ?Wﬂ@emw W}m ww/ aund
Lo meruaevies. . MR read e &197%]‘7&/%— ABALUR .
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a 0 The candidate demonstrates a
further advantage.

L To unewo, ae. fﬁea: OF BRI 0r boobs ountries..
&Uopendo(jpmwﬂmukwpwcmaw&dwlbohueo

O/K/mp) enunted . @ The candidate’s conclusion is

insufficient and needs developing
further.
Mark for (d) = 6 out of 8

Total mark awarded =
15 out of 20

How the candidate could improve their answer

* (a) The candidate’s answer needed to state that the price of the two baskets of goods needed to be compared to
create the exchange rate.

* (b) The candidate needed to pay closer attention to the correct labelling of the diagram and make direct reference
to the terms used in the question.

¢ (c) The candidate could have made reference to non-financial aspects of the standard of living and stated if the
data provided any support for this aspect of the answer.

¢ (d) The candidate could have provided an expansion of the negative elements of the belt and road initiative (BRI)
which would have gained a further mark, as would a stronger conclusion.
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Example Candidate Response — middle Examiner comments
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Example Candidate Response — middle, continued Examiner comments
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Total mark awarded =
9 out of 20

How the candidate could improve their answer

¢ (a) The candidate needed to be aware of all elements of the syllabus, as the answer was too vague to be awarded
any marks.

¢ (b) The candidate needed to use more precise terms.

* (c) The candidate needed to provide a definition of the standard of living. The candidate should then relate the
changes for the three factors in the table to changes in the standard of living. A final comment was needed to state
which country’s standard of living had risen the most.

¢ (d) The mark scheme indicates a broader range of both advantages and disadvantages than the candidate dealt
with. The candidate’s answer needed more breadth.
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Example Candidate Response —
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Examiner comments

0 The candidate’s response is too
vague to be awarded any marks.
Mark for (a) = 0 out of 2

o The candidate is awarded 1
mark for their reference to potential
growth.

Mark for (b) = 1 out of 4

o The candidate makes reference
to the data.

a The candidate makes reference
to the gross domestic product per
capita (GDP pc) having risen for
Pakistan.

Mark for (c) = 2 out of 6

12




Example Candidate Response —

low, continued
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Example Candidate Responses — Paper 4

Examiner comments

o The candidate refers to
cheaper export routes.

e The candidate refers to the BRI
being an advantage for Pakistan in
the long-run.

o The candidate refers to a
disadvantage of BRI to Pakistan.
Mark for (d) = 3 out of 8

Total mark awarded =
6 out of 20
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Example Candidate Responses — Paper 4

How the candidate could improve their answer

(a) The candidate needed to be aware of all elements of the syllabus, as the answer was too vague to be awarded
any marks.

(b) The candidate needed to provide a diagram.

(b) The candidate’s reference to actual growth was too vague to be awarded any marks.

(c) The candidate compared the difference(s) between China and Pakistan which gave the answer the wrong
emphasis.

(d) The candidate wrote in too much depth on a limited number of points, rather than using the wider range of data
available.

Common mistakes and guidance

A close reading of all of the questions is advisable.

Candidates should be aware that this part of the paper requires them to use the data in the text as the basis for
their answer.

Candidates should use the text to develop a response, rather than merely copy the text which gains few if any
marks.

Marks for each part question indicates the relative significance of each one. This should be reflected in candidates’
answers.
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Example Candidate Responses — Paper 4

Question 2

Example Candidate Response — high Examiner comments

@] | Matker {aﬂuﬁ@m be deffned. ao. ouﬂuﬂhmwm
L e wmoukeb fuds o allecale. vosourceo b QUCh
| a wou o dhab MAC=MEB . Hoskels dlwe ootk
' deadweipht  Logg  Octowing. vilieh mﬁdk
| _loov. ecovomd e weltme i deams of MOC& Ve u"e//lc .
| Meuked f’lww/ exfibe_oue do_pose @Hl jc a The candidate begins their
@xkung .,u Q&CO(‘JM witHe yigigy\ N ve,exst@mm response with some relevant and
we & OH.OW oy %&@b 0Ccouh a. wmqmm clear definitions.
ﬁ;mﬁ uc;hmﬂ MJVQUMP%IOVL N[’UCL\« yeoult T bhoam 4o
Eth&a ot dicetly  Talved $n_corsumption
chion » Hhe. aigumu& dhodes Ahab_the. e of EVL_

A

' vedh cen<the. e, e¥tonabohes , Whick oue cowsed b
O{r@jﬂ or pokolveldtless Heon ke fehﬁﬁ);mab %e @ The candidate explains why the
et | F odue 4 ety n I Y approach chosen is appropriate for

the question.

onshed_asconiatocl it @owL\ havivg
hve, contumption extumu%u dwe p

 Rowon & m rumieg- cettt T8 s Hee
| eyl/ L soded Zﬁm =N ubu;l;% Km &cauma{
-m, w&hm@ b‘[ NEB w{wm of Lowés polluhin andl |

,,.Qyowtw/\& U res uthA e
| eonau w mod] be._benedeisl bukate 4o,
} mgor ouTo. o sk (Fw’lm a &ho»«m bbuer ohogmn.
e ma— e S R wdtmt“ PC/ Mg(’ g :A;.M T

o ps I N/

PN ... © © The candidate provides a
LN correct diagram with labels which
: I MPR=D illustrates the points made above.
o Q as,

, o : 7
o Md}agmm assumes Yo te no Pmdwdﬁ‘bz\ex('mnd}an
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Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments

Acwrouyg do.. (;b@ Liagiom , there_ ¢ wﬂdetwmmglm

- uielfoue Lmss ffovﬂeewnom
@mmw{:w chuvm\@ fYOVlOb bg«\o[fé/,)p o The candidate makes some
roo(u@;m/s%vwh?x a{ M@deo . _l\Q. oveain- | use of the diagram, but greater

- torddd ol provide g\,(bg@{f&) <(z9 oo dilel reference needs to be made to the
WY\QWU{‘V& F by Ovei m{@m:t el 6o ond | . | points and their implications.
J(o dekup E\/ uchon Plan’c& U He o/ounbaﬂ
IO tn@ OL‘ MDW ‘Q\OW‘& % gﬁe f’oi _o e The candidate chooses a
&b\b&otar@ﬂ H\e Maxk% f@v d@d‘na Veiulies . subsidy as the form of government
» ?ﬁt L MPB=MIB gu ; policy, together with a clearly
T o MO M8 - &' ; labelled diagram which is analysed

) (go + Sul: G dj) i | fully in the text below it.

Aceovoh 4o e, dlagrom 5 -W\e &ubmltr@ EY 4 o!ucerﬂé
Ll tnenetine. Qup Lgr oML io o0 thab the wauket
,Qovdﬂﬂonum/ B o € Hmust ﬂoe_mo@d

41/@ ?mwmm ts &.ouoit

L _wbh Ho?me,\y%g 'ﬂ\
WY\ LI O (0 oY\ ¢ Q. A0V
EU} : '_.. Mw MUCh O 8:;)\ &ubm% Srowldl
Lorovtyion il contee treaoed - l
{-/ ﬂovemmwc A subsiolso
lt)roo{ucerﬁ chmplacerd anol eoutd VQdHC@O(MOLay :
e, el oo el N sty assecioded pith it

0 The candidate provides some
good evaluative comments.
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Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments

| Another, measuue the government can. use. o dfett
prodiion « %vtou&{& Fvofe. oroducen mlaw( nek
ww\hvgr&@ Joke. 3dks . Fre aQanQ/m& fonk
@P@%% moukeb f@« E\f& ondd thew th%’ge%
_______________________ | doclutkny Lober on. owee. & gek -going»
e DRk T YONKION 18 (OGS qu {0 ke Quﬁalo[e
| vibon Hhe' mw e wnm{whon &e
| Bone, ok frobSduad flm& mig] Lc@k Tnocllito
1 4o s - protenhs fhat doke. lwael amount of. ek,
. 'HWL@ owd % mau: 'DQOL, QD\ dm&p@“b@ﬂ |
|edoen ot w@noﬂc@/ IR meukel of Elechrie. Vehioles hao
s voolk . %Dhnote@ab ‘ﬂzf)motoa% Con-achieve. ou
yough reambbwwld
: bg/ w{ec

, oo ook
q&bLN&ku v aw:\ ‘hﬂe@o Qm@ E‘omﬁ ]0@/\ aci HOJAC@
| aoverdmesdt Soloivertion 5 Hhie e fe u&%'f\ed
,,,,_,?zzcamae 40 wouny, dbhet fattore /%%L lﬂ
‘ byl dee_privode tector w&du
R ux OMDL %Mk% (’;-lovk
| Bowereses «”]“dne ovesnmonk fe bo Fvov\otc leve & QJ
é)r[;\f’l\ Yeppuire. {?y\ 1ce.o toons wiak hove. 4o loo duk é'n;
T bw Hm ab: m

e

;——

un\evdc omo\ cauw

o C o The candidate provides a
= E\/& ML‘&‘ e second policy in outline but it is not

M clear if this is accompanied by a
good evaluation.

{mn exfecb oo
°r WF e edaa Mark for AO1and AO2 =
cmfbo% Mmb ‘N%L 12 out of 14

ka vt
ﬁo Mark for AO3 =
4 out of 6

Total mark awarded =
16 out of 20

How the candidate could improve their answer

* The candidate’s first diagram needed greater commentary in the text.
» The candidate’s second policy needed greater analysis in the text.
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Example Candidate Responses — Paper 4

Example Candidate Response — middle Examiner comments

At Ledermvesers flotive effioney i e poleeg that

qooer\IPL/\'t an  wse  d,  encgourac -‘r)\&, wse  oF clectrie velpeles

N\oot\“‘\"c N L-"‘iuu\oé _aleo bromn  as seciel e-LFrdc'/\CS when foo

| Muc\r\ or Too \‘T“ ‘oro&\(;b LN\AS Pro&wg& ;‘t ts mt 5Bl a\ C'\Lﬁé;lu\ﬂ
n a The candidate provides
. a relevant but weak opening
: paragraph which sees the policy as
v,ﬁ\’.{"\.‘.’.‘t&’\ fhema 0 consists 5 (ol of pegabre erternalilies being the analytical tool.

’ﬂw\xd Fidwres il Thea occars w\\m the $ems ae avm 1o

MG Ve Pro%"\ y ﬂ\t b wtll contirue 4o Pmimca e = {

\I\!\z/\ ﬂ\,:, ,\\L.\ wis tuo.s\ B,\ 'ﬂ\c_ iv,uu—nmv\’k T)\a,_( v:@c_ a‘o(e_ o \\MN

(N
]\22;‘ ach*f&\ i’l\c. _pre Audun_ o+ st-e,\ ,,,\A F‘.,‘('/\o\ g—\ vehseles
)

Tbl;ﬁ—ms’a A?_"._S__‘_C_‘?mfgxéc_ 4‘\(,»/.\_ _éou.@'n”\cv\"’ L\rxvc__'tbﬁ 'MP\"S ‘lqra@@sv

on —H\BSQ v;‘t\n.\c). The price will Increase seoo and the con s |

\A\K\ L\"/"— '{b Long: l,c/‘ nwore  on e\co vvc.'r\bc(u‘s c!'ue_ '[‘(3 crzz\/‘(‘
pl‘rl

(-(*c_‘bf'*{—or 'Hl\&”»r,r'“— w\cs% ‘U\(_ 6\(,(*!(24 U((’\J(/(c) bcgom Wbrf\\u\ ]

P pos' ASB 2 e B
T e e The candidate’s diagram
1 | (lacking labels on the axes)
e attempts to add some analysis to
. - ) the private/social divide and relate
_ to the policy of imposing a tariff.

t& 3 \ ! vy wk e MSC = ASE A 5 ‘| | The use of a tariff is considered to

be appropriate as not all countries
e ﬁom\ OP*M\B W\ I’“ e J‘”Q““\* o obtun: Tuite have a car industry, but this is not

MY neessenty ol Lc<m¢_ds leggely deprads on the rdc || explicitly stated.

inergese o LE ,.*“.‘.t% rate ¥y too ow thea dhe consumers are willing
9 o The candidate gives a limited
evaluative point.

to ;pu\L moie o ﬂ\gjr ~(_"«.Jouuffe. cafa

Y Y X e RS [ JRROT—

Ao e anther 2 giuernment can provide sabridies fo-
[ the Sems Hat predece sbagtor elcttoie ok The cost <
ol then 8ethny chaseer lower an d Rence th

(|\a\ pefc & ok 'fl}_'-_ uc\r\la\c_a @re  Mmore z‘.kc«(—wf'erw.smCa'\ «TT»«C{"»

o The candidate describes a
second policy.

dots ok Ahe eom consumers el swdeb from b petea) yehocles |

| to electne veboeles - Wil Ahe neces ot eledtrie peheles, |
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Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

1 A\e _negative exferpatitins suel @ aor pollation «a £ heatly

1 ogreblems  wath i\ Leome  fewmer -

l‘\ M4 \sa. l\“& ALCQJE‘N\“\ Wé’\~§ LLL‘M;L i\ [A*qc\( ;lcpuxat>
L) R e )

on M ssbordes Aol gosermt pesl provided. Bvegore hire ol | @) The candidate adds to the
ﬂ\u\f‘- f{b?ot\ﬁ\\o'-\f&} o prolﬁo‘:t the c,«*ﬂv\ Sometimes f eneadt 4__9 evaluative Comment, but this is not

sool chotce for the pugle fo consume Fhem because o was sufficiently developed to achieve

N"\“:\) too 2rpenstue nowva &3) - Governevent ;\“"'(}f’“""éci’?" Level 2.

atlo-Labie Lj nost ot the P,,'aq\ac'hoy\,

g oot meaf
- o

”_‘Spef\bm\ Wreas & Mc\ may L. net atterdable $o pa+ vt

..... - =\ b e e

the dbi wn fatare .

T kc copddade i Ao 0"'”’1\\‘;5; PF\"”‘} ren't {/\04«1"\ fo ;c\a/c‘(.i(l

e vl od clectric vehndey to. gtk creete fewon peqatioe
: . Z 4

erteratdes . T4s mnced to - callade wth other o, licies soch a3 Q e The candidate again attempts
L} . .
)\U\Lc/‘ taxes oA -ch\ Lu\\\é IL’S s fr:ﬁrv\_ an ol mece 'c[uf{fza .>fq'f 3N \J”\‘LL\ tO add to the_evaluatlve Comment n
b - ! R their conclusion.

_mort condortable fir the electoic o car quners cand more e

roektirte cheaper rondtar Aoo the lectic @ ocar wSerd . heebe | Mark for AOT and AO2 =

| only fhere v 'fr\%“);m\olc. Yo ncrearcd wse of 4l eleetria 7 out of 14
g 7 ) b

ve\}'c\ % -

e Mark for AO3 =
3 out of 6

Total mark awarded =
10 out of 20

How the candidate could improve their answer

* Overall, the candidate’s answer needed further analysis of both of the problem and its solutions.
» The candidate’s comments needed to be evaluated further and in more depth.
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Example Candidate Responses — Paper 4

Example Candidate Response — low

[The_ep cpveroment ehimate change polices have Nt

EN2s ecouae b R cegabive exttinolitfes: Neydhve

‘ extormalitie)

PALChL UK 10 loear

ecoe. oo cextoun debron - e, vegogaive extorcuiiliey
aftounecl with  novmEk carg are peite podunon and |

L oails to cllocake. geapurees eglid untly - For_moricet poiluve.

QNC_peUMADY - Marie  puili® O  sdhen mekr ket

Dot e Sevkakeretn il venehlt wring eecetd |

mrﬁcdved AT Yoo ledd Yo e torud
vost - Bexovrees For tan mw (siourted  pumls oot

-eppielontiy-Phpiuenuy iy yohen  YelOurtes are ubilizedin
e et poviile. -

EN2S ok oreake. peer qeUoive. extemmu it cind e

clovetnment wweWe_enuourege (IS wooe w iimpoiny
woxe) wn il andh pebrol qeu veudes: &z‘neeﬂ,/jﬁl 0

ave a Vietenity Wknune  wowd he eppected ol we

pice hunges onck et eIk cime i point  Where pedple
vl deddect Yo spaditch to awosbtuits Wea By

3

. N TS s _can_be_seen in e divgram
Tor= abo_that e (0bociuUbon e o
\\ B LOX_ COMMRA A pivice 10 InURUAE
g' L_tL\ S prom P 1o P1 and_the OD o

SWibt_yron & B o O becumre

VOOE 0@ INURCAEd W e supply  ThoudA ancl ek e

reunen_foy tre JeweoAe sn demand voouked e The

aNoilabiliby o) sub Mttt WA T By2y-

| prochueert  ASU QUM 6 TAUE WO 12 \OOAMINENS < Hrewe ThUr 9

Arober wethak woowd e priee (efWnd polh@re  oovernondi-

wowd, Y to keed ave  Prices o £Y21 Lower -Hadn T

Examiner comments

0 The candidate provides a
relevant opening comment on the
problem which the question deals
with.

The candidate outlines how
EVs help to alleviate the problem
outlined in paragraph 1.

0 The candidate provides a
diagram as asked for by the
question, but whilst the diagram is
correctly drawn and labelled, it does
not show the effect of a tax, but of
a minimum price above the market
clearing price.
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Example Candidate Response —

low, continued

0h_buying o o ond_uaing dodly fuel in iv- e, weece

A ey pice (eiiny meord thol  the
Sl < VOO WOiA w0 eak T
ORI UL worl tnluwRd sn inveahing
v \ ,
‘ A chhuel or pubiol  cun
| 7 \
s AU AL e pare exp e oy |

PVIS- \OWILE  BVIs mw,Lc)\ he_under u__;_mo(euxr\u

20 TN PyiLes uoiLL ceauin ctuile~ tiere e uowemmmt

oML et mpund Ao keen the price, o) Bvig wuau

Yhan ?utm YU tdre

Alowener, NOL- evenene wowld  ve alle -Te abporch an
By becomsezh Yt Ulee pegple W-Gly etonomy
Uide——tenn  winere fuey cure i e tormow teddd

__&u,ce.j&g o\ Ml =23 olq’)en_‘: on clailiy woged: For ge

yMM&QKﬂMA&AMMLﬂL%.&&M&.@

attuchecl to POl U 0yl he ecMicetied entugh
el TURC TS ke poalll & i o wounbAy_ooh Iaos 1o
Ut rate  onch 1em _cuandtenesy

LonupA oM, ntocut e &), BVS edefenchs wdon tve

ndivietiods - undenrandineg  uicls uge BV

Example Candidate Responses — Paper 4

Examiner comments

O similarly, the candidate’s
representation of a maximum price
is not very well directed.

e The candidate makes a Level
1 evaluative comment on the
affordability of EVs.

Mark for AO1 and AO2 =
4 out of 14

Mark for AO3 =
1 out of 6

Total mark awarded =
5 out of 20

How the candidate could improve their answer

The candidate needed to give precise definitions of externalities as the difference between private and social cost
and revenues along with relevant diagrams.

The candidate could have made references to market failure.

The diagrams/models chosen for the two policies could have been more appropriate or the argument better
developed to justify the choice.
The candidate’s second diagram was not labelled and neither were the implications of the proposed change clearly
indicated. It is not clear what P, and P, mean as there is no reference to either in the candidate’s response.

Common mistakes and guidance

Candidates need to label their diagrams.

Candidates should make reference to the diagrams in the text.
An over-reliance on learnt notes prevented candidates fully answering the question which was set.
It was noticeable that lower-level answers usually lacked evaluative comments.
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Example Candidate Responses — Paper 4

Question 3

Example Candidate Response — middle Examiner comments

A efkd.Sh‘uJyraTs‘ﬂ\c cqu.a i pdritins o e i eI S
e COP PR ged tahe 10 S o f thesnp. od difraS. ‘\oafhaj tz. e/d'ha
| exit ede. The Bour: -rupe..s o mozke:!— s+Pu o rc, mPU’CFdJJ‘

0 The candidate’s answer starts
‘°6 with an explanation of the factors

o |campedion, macpeliShe *{’ Bermes edmy which causes market structures to
o epetition, oligopel cand - My e < | | differ.
esenopeotysy o wmwr ............. @;,"_P”’@“ oo Teee e ”;;w
Apanhe . oo
. sz;?ﬁﬁb”(('b( dedweincned. . _‘Int:i\fbghamm@;d\'tmq 0 °ge! ' &-
g
bud rortet demaind ond Phier Aici@ v %@Mj‘ 5&.&&1 9
. 4
oo The mAim G_meiwa S e The candidate shows an
e oo ST pa S5 bole ouﬁw‘t‘e.&umﬁ_‘ﬂ\‘ understanding and a limited attempt
o prostuce ol i cosB . 34 ST SSRACe | SR to analyse the connection between

economies of scale and minimum
X efficient scale, but this is not fully
é?. ohpe] " | developed.

o i zed | TL53 B i llustHesad E
10,,& e QL‘va.Da-rk-. n7/L:*,u 'M&—k
X B fhe mioimromm o & ciend-seate, a;*?/u/d\w&
L The locserthe palatmo e e Ff e MJ’,,éaJe_/fl"'e Jo ettt borarat.
Py Ms.r.J o o lLoarted, od sothe ekt B core
LI& e {’otr\ﬂ' ~Mte e, Q%ﬁae/\i Scade 3. v:/a L.u7k flee-. m./t-ttj‘
Istrecture. I3 ’»hd‘,-fp loe o u_-_;K;)\ ot Actirfad ono. noP-lu& N W
Jeteoa se Hre Ex ed costI ond e ag 3. o//,‘g)‘f\«ﬁ ur-*&

al/u vad' oewtd - be. o k.ftf%afﬂ'u,uld PaSLQ,_ f‘\ﬂap(—

oo e e ane e Thotd doens mpt have s g e aiess. oy o The candidate makes an

|reseorsas, oru pefent iean eXere e, o tone) bechd attempt to link monopoly and the
size of minimum efficient scale

./U‘a“ Inean o o(_vduk.qreu)c,,.\rc_:é\'ﬂa)ws‘v'%u?- e 14 '—xh’_‘"a—, analysed

e a0po lﬁ e : . . e b e e
e T Hte r<iaioe. &Muudswc G_A,% iuf‘na’l-./s?n?ko».rng_
- ,..i.rh.naPol.a yo8 S ZFne tofertn the il :r\du_f'ﬁl\a Heen onoligspo ty
et @x5SH. TS 3 Becor)Ser Shired, o sk il e lacvar:. oe=ToC. ..
| abnaf‘f*szPm Y ambored, SrwiFlre eI vha‘.?s Korw coh Fa ol o
.b,c,..vha-fﬁfz\?. w.% leses NI Yoo chholl exgiirs G,_..f_,CI.\ving.Pa,{a%...
. |HMence.-. bwu?,ep eaty, oo ClleAThydowel, ond ¢ dew b
o ot Lol 2@ || @ e ks s
Sveds anthsae Maﬁz)", or-. c»,(awmw Hhesth
- aﬁqef"%o Lot ey e/"(.a"—pt/hbf} Lathe At e betoan, ﬂ%
- fo—Carter, o’_"”o»o‘lzul(u&oa —
ATE o }Id""ar\""‘(/f"“ PR L S PFR N2 P Einu e rm ol
lbeE : cpm[bdﬂ-a . ond i ma—/'?eOanl.Ehe,Qﬁfé-f‘hhﬂ/\.
Jeadl £ USSP P Sirpn\deol SHuaths n2ers |
| e FreSB Ll &XRF fperdecy c_o("]ﬁe_j" Moot —
L Tnefruo berTre 3 o e A g mwmmh Eem.. "‘V"?-‘ﬁ
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Example Candidate Responses — Paper 4

Example Candidate Response — middle, continued Examiner comments

— JakConma 4 pro Sttt Q_-}ft-f;,aop-,pﬁ., AySoelenolret -
Apredht el ealy €3 ITH A e ShorhRun chhC befi b Se

Jmerfied St (84, An exorapte 13510 wstreted below. |

- /R

—adsho et rua etz LRI, n.pelTeckes pedihon T House vers D
. F,’ﬂ Gtwlll of‘l—dbe/md’(: - m/‘f\a.LPmd\'!‘_ e e ]
e T tRA, e ddked dirvand can tletermmine. ot Anasttads
_reHoned jemd. oal dermond. hsroaenss VrFrod_ud*s-H—u-_A_Q_,,

. Fors(’&d” (_o'mrc;ﬁ‘h‘o ~meredmsdvoctoce el e Xizto ]
| TE e 2 5F desrand L goods et e d S eTemdtadesd.

|and foC hevea-. uﬂz%{d‘ﬂﬁ& o ot fhetdrere 1T N itel;
) =2 MMoPa\‘7'hl-—c_ﬂM]>a%hvr\ ot o afl?ofalnﬁ - wke_lz_
o pbraindiaq it necessany end Hare 3. ComSuenei ""«’“”r?f"r’ 6 The candidate’s answer

F’ reudice. ot e e <effalmbrands. e loses focus and repeats the same

Tetee tstek o ked dorond i3 dor °d“/~fe‘-"'t°<~ """""""" approach as for points 3 and 4.
,—H«-\J IE et Ner Sty U cka oS, ALC,CFG/)«:/} e J“a.nlwa«_q
— {Hraaspert;, i Sl ‘l“'olf,op' fofte Folnihoo oo .
manoﬁvl«a LA enspo f.a g2.:0€ s Loned. wkp@,‘ﬂda
B e s dean q%ra,(smdud’ Lo P T, Aechre
clngFe-cbeish e £ e b, 'paua)'?*‘s ‘ot pthes” '
B e e Ao g B Mt

| SF o plotdS Q/JM m,jh—_d Sezr‘“@/d_' 71 | question, leading to a rather weak
il Srorked derornd cnl). },Va‘.m? edadhE ‘oe_/'d"—z:d | | conclusion.
c,med"...‘.pq) seletue . Jette Jaonepat{Xite

- Camrej\"\bﬁ .} rt)a)ﬁbe,‘vs inedo AN oz Shecon. in_ .

A Yre Cf‘u”ouv/\Dkd ‘9-?“07"’75

Mark for AO1 and AO2 =
8 out of 14

= e Mark for AO3 =
Hence mbitces der~dd . V@‘ ARA A g(fd’v Q@J\J,':Sc,c‘(g 0 out of 6
Total mark awarded =

_Hesres:cathne PNt hod ) vell ing chgre e TSNS
e e ”JLZS”‘X"“’,_ ~ 8 out of 20
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Example Candidate Responses — Paper 4

How the candidate could improve their answer

The candidate needed to argue that given a market size of X and a minimum efficient scale of Y then rationally, Q
firms could supply the market. What form of competition would have resulted from that?

The candidate could then have evaluated that response by commenting on the realism or otherwise of the answer
provided.

The candidate’s diagrams could have been clearer. A well-drawn diagram with relevant notation and utilised in the
text helps demonstrate analysis, even if the question does not specifically ask for one.

The candidate needed to provide evaluative comments.
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Example Candidate Responses — Paper 4

Example Candidate Response — low Examiner comments
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Vo | (Barrieri-fo-e

%&M "o Compw‘h_e‘n A 0 mOW(Af,/'kan\o(, fortms of market sttrl,:ccttrl{lre, whitc_:h is
&;ﬁ(,%.,,m Wu,mmgta not- have. a4 Crolce. not a requirement of the question.
N Bomovenad /"‘\C Fiemig in o Monopoly €4m

| ¢ agbnormal pmﬁu& onlq
NN s N o Short run, howsva
\V ) npe, hee are. mom%—

, ! MKA S moesimIicis xu’vm #W"’B*
i w’*"“’k’#ﬁb“ 'H\e,/r-u MR_ a/cg&m
’ f‘n‘ﬂ/\ey Sinar, AN bﬂé’ow 7‘9\@«1 donot U
ﬁemauc@c @JW“—en&c,w '

' - The, dmecm,nce hetuseery /%r%&u—
‘QWD%)ELBY\ Qund TNOAD O Eb rohers o

L mainty e firens in_perpeerr) Compettiim
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Example Candidate Responses — Paper 4

Example Candidate Response — low, continued Examiner comments

Q&LocaﬁVUq ,Dmolwo/z dJ a h;qf\w
cutput ¥ - rae,w\gc/ n & ey oo FOMQ iy

‘ O»mxomwe/ oy R, ave Yoy e et ers o
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| martel gng Htne Su;()plq it MC’“Q,M@
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@ SR Ut oiohiewd) & Voy Uy

[t revenue €arned Nk Tre Frm. Dde 40

Sk Corjuumert oo not “oel- Comguumy
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Example Candidate Responses — Paper 4

Example Candidate Response — low, continued Examiner comments

barters 4o entry gy Wwdl 0 e FACt Thak
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'~ va\/\w{' on g\ ghousn W IKL
ol ~ anbe ol QLumoW\oJ LI .
' N Ptu'ﬂ'\ermwe ¢ pinm M‘&;
‘ \ +o. Increcne el clee recse 4

) [y, Conllumers mewy
N UWuarde o, Q—OW\p@:Uul-Drj ?
e > T Coinng eequatindum
Fva WVW abeng w&mcﬁ: C,aw\-c/ls e)ﬂ,“_, eAII candid.ateswhoa.nswered
| /Aw; W% 7“‘/)9&3 8; oot Grecteme, :]r;;rr]‘l(ssway gained a maximum of 5
‘€)<wl" Orthin, ot lnoLaA—h'y Gn Lhews dtusted '
Qhove, bt Hoeto . hein og Labourand |
Eeondnvien ok Scale Chowlel afo
ool ared) W e dlermiin g Market
| oot C»anéé may alto m/warq‘o Ge/ir:fmcreamf_
ool clecre. Chrt— /rml:,mh» QQ/’?_@Q
#%ﬁqhek) ?S’ mJd 6/77’crzr\0 mcw .
Oecreanc. Cots b sclue iy ivs’ Chot+ | Mark for AO1 and AO2 =
A e) h@WCV‘@V‘,’fa WQ/’Y) MMDM@ - | 5 out of 14
Vomam/m X‘f‘fm Muat Croase. Thuir

[vicen ev Mevremne L Conumer U plas Mark for AG3 =

m eler O odfroet Ctmowmers D el 0outof®

| g s - (neroan—p COHS /nfjna%#y | Total mark awarded =
mmrmﬁ;& gl ke Q@mupmmwe,d. | 5outof 20

How the candidate could improve their answer

If the candidate had read the question more closely, this would have shown that more than forms of market structure
were required for a full answer.

Common mistakes and guidance

+ Many candidates who attempted this question did not identify the key elements in the wording: ‘total market’,
‘minimum efficient scale’ and ‘market structure’ and therefore concentrated on a single element.

* An over-reliance on learnt notes prevented candidates from fully answering the question which was set.
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Question 4

Example Candidate Response — high Examiner comments
)f'"fffff_j,j aw vc\&n&wlkepn&fcmo/wrm nkeoms
Lof cwobher. Thee ue. %re@ mojov extfarge wote, |

s Jho droe roating exchouge roke dierems

o l’o 0 The candidate identifies and
T contrasts floating an exchange rate

: and a fixed exchange rate.

o wfe

U tn thel vedue of cuvrency deims
[»O«Mo{:k@t e mo:y be . a&sowhd withl lo@mﬁtf
o(hawbmckﬁ velb on deme - mgﬂﬁ

Ywahom mocf,ow mcome cow\
be, iow@ o dome._exkent . \f 41 wao oS
14 B but &ﬂm oy $ 1 woo worbl Re o, de |
_lvupee £ Lodd 4 l/\m/e/OlQFNLUOJC?_Q( ag Y\El' He
Laldltax . 3%3 il dead do_exporbs Lo oA |

N o GOl et Aead s | eThe candidate explains and
/hj ~{£@ o{q,o@mq/ w\, {0; He D analyses the effect of a depreciating

WZCOH’\@/ wrrmb DLCC@&U’\& fo?'k c;\»ﬂow | | exchange rate on the prices of

neor nomies deaoling. o v rite o agavegete | | SXPOTS and imports.
ndl_onal ?V\j@oh tndo he Cconomy « Aninverce
| mwywﬁcms will Hnoene  nodiovel facome %mckgrea:iat

28



Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments

\

d e The candidate uses a

d Keynesian 45-degree diagram.

C N AT Ny (eked )

| el oquilbrium £t G whote A€o Aritetn
f«z\jwﬁm& due do._ex w%ommvxa—x will ecwse o ehitt |
—LAE fom Ao to Mo, &b N, KE,> ¥, fo ouk pubinerdsoes.
%adu: minadtrg- %d%{—taﬁ ul. output and 6 ‘
. Wriuen 0 formed. wheie :
n& « W o o Bippling. efect oo theree
s e

o The candidate uses the
aggregate demand - aggregate
supply (AD/AS) diagram to analyse
the impact of the changes on
national income.
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Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments

| Anobhor - winuy Hhi e,comm:a@mwirkm b@mmphwl S
*ﬁ/\m \ Hhe, ftnenos @n Aieck Savestmend o

W Te. Low ‘ﬁqa:meéoono 000 3 Unemplour
mwt 20 moqy o Ukely & bo. o,he 7@& t% Fﬂ
o@{;veuxk

e .. MoreovBn ,
Jo

or, Yoo, Of B vvency]
Eﬂ\z WLC)’L@Q/JQ n Dt wf(;m@ flf mv:ﬁ

henee. (nULeom
Nﬂ; (‘ﬁé’.@ ‘SSL\OL\JK b@bu 'JL\L&
deim ooth. %m‘@h mul’n’[) Liex |
lwvuhnw e = @ The candidate extends the

) analysis to include the impact on
'@ “‘ @m oluc,hv. T and of the foreign direct investment

1Y

(FDI) as a result of the depreciation.

hwm@f

| Howewere, all 4heoe conseguency ,;if_ e thort (ed
e Mow)halb Lerner domeldon £W

o bhen H\@ Gomb ned
Ah@vlr v, _| % wFLL_ : ol k) HwT
V\Qla—lm ny &abgf\ed %ohaﬁmm o Lov Short e

e C
ﬁ“};‘l e e ,,,,,,, e The candidate evaluates the
effect of the depreciation in terms of

the ‘reverse J effect.’
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Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments
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w fateme. . wunhﬁ m“ﬁ

0 The candidate comments
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} 3 Counbnea « e, ecawo, difference.

Ulh _Inps Laal vou iadeinls
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ey Ao “cezw‘u L\aw/{o e &
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L wzm‘r o mme fn.0 oty

3 WB:R lower prices. buf
meol Cotb bearind. c{w/elm ed uchse
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| Heh

oY olso_ Harou Jheae Mulhwrjlovmgs Maéj_
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Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments

Uﬁmlﬁ afwuo&m of the £

@

@%neﬁtd\w‘ae

Jovate T v\a/a weo 0o _well. 00 0\oposhngs. OV . LONOLY,

.| Howiener , «H«\e owaL hnek umPa fw\emﬁa )

| ke olepreciodim . can e, be “deteimined oo
_1dhe cupr ‘fn:lrvz.,,o _ Hae eCononuy o

LThe . anmwﬁs tavo bement th o Vd%t .
C& _pCoMomI L V@W‘H& fm the Lo Hhoome. oounf\@L
e wwurb u n_ oleblr and delum

\ade s 1LY Hho @ad,ma‘ﬂwm meo Bf the |
(v\bﬂo[ g ugb A rfm\) (f W Fedtzand W ol L 4 e The candidate examines the
| e, L@M@n hte Comduah impact of rising imports costs on
) wheother OL@FVEWA:E o il ‘o@ AS and its consequences for the
Pow Sncome. &Our\k‘a. general price level and national
| 20w _thCome. oML . come.

Mark for AO1 and AO2 =
12 out of 14

Mark for AO3 =
5 out of 6

Total mark awarded =
17 out of 20

How the candidate could improve their answer

The candidate could have made an explicit reference to a low-income country.
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Example Candidate Response — middle

Example Candidate Responses — Paper 4

Examiner comments
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} foreignesy thud  increagieg  the  BXpORIS Corvpemeibees S
TR il incresse fle clemond] of- @xponts  Aence inCrecwsio,
S pport- FELEnLe . OMHE olher Aesod N elepre Gofson it othsw
increnve e pice of inpobts  respite  Fo the olemodbc Coundpporid
| Thao, Aetreagsny the oemond o Inperit and rectacihy
inppert exporetiture: Thiy il el b an herease i ret expert
Wich  dncreader  pe  ngsregate . ~lomensd CATS 2 .
An in crese in Ajo:q/f CAnde the incremve N pPrectics i,
____________________ | owtres @nel Ecorenic gruerh. MW aere goocks oned Seidces we
| prectiead | Treve & A heglec  sferomed Fof Foerer o prroticfien
Cre (latowe bompritad . Thorefore csnee a; low incane P@w\ﬁb.o,,,
L lstoe conpp Aigrer tevkork | ghiy  feerpgUfuape inCrodses! AD
| Ao e /N”ffd’?l‘: net capirt pesudts in inCreas e of
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“7'~ l= etgreett

“ The candidate provides a
good opening paragraph with clear
definitions.

e The candidate gives an
explanation of the effect of a
depreciation on the price and
quantity of exports and imports
together with a reference to the
impact of these on AD.

0 The candidate incorrectly refers
to productivity rather than product.

o The candidate’s final paragraph
seems to be just an add-on without
any logic.
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Example Candidate Response — middle, continued Examiner comments
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Q e The candidate makes a valid
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Cotteol lon. He Increseetlan AR, aod—
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Example Candidate Response — middle, continued Examiner comments

Here

ko tle  @werorte seoigt  of sl let—insmns®  fecusbrg.

il pogifces, Qesrgeilete

Hevoier  gone - fhe  pegohilo.  fapethl ros ai toe ofbser if

_— He ovineane  sc2ubhy il tetnetepmeneleod on ltaperpesl rmes o

feote ) ay HE G TELEL LR _Ope.. K20 Focrgeot ih the.

& corctnsion At oleprecagion  Corpmbobed 1~ Fhe

............. B A

Sreati-.. ot

Chorpar i AB Hevetop it mcrefg—r detren He & g7i4
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U Loky = Fun

A, o Ne M o ercha 1P rey e s

e The candidate makes another
evaluative comment, but none of
these reach a Level 2 standard.

The candidate’s conclusion
could not be drawn from the essay.

Mark for AO1 and AO2 =
8 out of 14

Mark for AO3 =
3 out of 6

Total mark awarded =
11 out of 20

How the candidate could improve their answer

through a developed use, e.g. an AS/AD framework.
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The candidate needed to make developed reference to low-income countries.

The candidate’s answer needed analytical development of the ideas expressed in the opening two paragraphs
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Examiner comments

0 The candidate opens with a
definition of exchange rate and
states that a depreciation makes
exports cheaper. However, the
candidate does not indicate what
form of deficit is declining which
undermines the logic.

o The candidate asserts that
depreciation will make the country
more attractive to multinationals.
The statement concerning
employment follows logically, but it
is not explained.

o The candidate’s comments
concerning speculation are not
relevant or linked to the question.

o The candidate’s comment

is speculation and may apply to
multinational corporations (MNC)
whatever happens to the currency.

e The candidate provides no
analysis or explanation for the final
statement.

Mark for AO1 and AO2 =
4 out of 14

Mark for AO3 =
0 out of 6

Total mark awarded =
4 out of 20
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How the candidate could improve their answer

+ The candidate needed to provide clearer answers that were analysed.
» The candidate needed to provide a more logical progression of ideas.

Common mistakes and guidance

* Many candidates’ diagrams could have been clearer. A well-drawn diagram with relevant notation that is utilised in
the text helps demonstrate analysis, even if the question does not specifically ask for one.

» The use of the aggregate demand equation to show how (X-M) affects total demand helps the candidate develop
logical thinking.

» It was noticeable that lower-level answer usually lacked evaluative comments.
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Question 5

Example Candidate Response — high Examiner comments

N\m\svhww pol\w\ % sen_achen. X Covdwel Yheo mm:s cwxmla\ 5 thtert

yotae quﬁ%& Tefa, |,~\ condred benk 4o (OVrevt. fhe M _,,.f:q a The candidate provides a brief

[ irfotton, introduction.
Condrarhimoyi _ prawidord ml-w\ ter help ko el fhe_ yeta qz
S SPEUS ¥ Snsk . A, Pol s om o &ww\, ~sYele Pol.‘:j 52

\ )
A a «{‘?fex\ agapeste Aesared s Fﬁst/ whm s ‘nisrut podi incrensel

whith_mesns P o of bgln_,v\\j oreses_, So pepla Wl e 'hmo
Amoten biwie purdestd prse il fal\y osonptie s\ so 4D

The candidate demonstrates

7 et good analysis which traces the
dssverses , doroard = pull_ietta alse v?;f““ Seemk, Yo, ”LL“"’“J“"&? monetary transmission mechanism
vedee goes wp fha. Price. a.f; m{mvu.,__‘c_)ml:(;,_m.l\*r-sz_/_a_u‘x_fh« Aemeel] of a contractionary monetary policy
fom_tngsts i\ increse , #e oac oA e oompenec e a0 (xam) (MP).

will  detwrece R AginencA -—]M! ,»—T{_ﬁ sl detioast.. T‘r\ h)\ \ru\':v)\

inane wm’\r\ also.__con, Vu,lwx-\ ’(L{/.J_ el . ooty B )]

alo

wﬁ&s@u-w o method, 1% ms__yefm‘ﬂ‘*« Beceror whem ths
_____mm‘»){,__wm goes.op, e it of Iequied N WS AT VT g

ohwn 5 wWhivh, reens, wsi o& m*v\\rtf\m olse dletveasss,, oqarets “w’!’h\b

intreess,__cost — (insh .»?l-\c’cu eloo  leereeses,

38



Example Candidate Responses — Paper 4

Example Candidate Response — high, continued Examiner comments
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thes oiflen  con inUress . proshwiivg opasity mq/\ A —pesh | alternative aims and the impact of
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Total mark awarded =
16 out of 20

How the candidate could improve their answer

The candidate could have made better reference to the diagrams in the text of the answer.
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Example Candidate Response — middle Examiner comments
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Example Candidate Response — middle, continued Examiner comments
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o New oa.gk co;\f()\owoh s (\:z_j%
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Example Candidate Response — middle, continued Examiner comments

R

P‘i’fa ente... ME) e e

. ‘,fuck,\yrqu.o.#;mz Voo onud) s

Cons) Aem‘\xav\ T . 60\*0\ uAY
Q\C(wo\c {0 B& ,,,,,@g,fec_'\nve, 607\% hm% g °

o The candidate demonstrates
some further evaluation, but again
not to Level 2 standard.

. l’hwl&a . e Hinar Skk _Coune, roblerms  Jov W
oy nrm\g: —(.je conomiz. ok ecJ\NE» Theswgh~

o\em\uq\mn Pt PED of | Motk ex o,ss o
porls @ \a\A ’“ﬁor\ i A— “H*«L Cmmtj, Sx

VPR S U N TR G ol odfect

.6 o\lor\(c . crp poumer\'\s CDf\S\ o anDQ\O he

G‘\;tc‘*wﬁa . rOﬂc Towil cawme ingld By el U\ ]

T e L\mo)\ J&o, de Cam?e'\’{x\fc L erOM.

'{ohcw Soeo)\ evpoile. Econommie amw%.o 6 The candidate identifies
lo

' o Countr, e \0d el 0\\ alternative aims of government, but
Cﬂb - - J o’% T the understanding of how they may

! M oﬁc S . .
'“;‘Aeg“&%i A L \ " IDU _ond kf}k be impaired needs to be stronger.
\\erest ¢ oC\os ‘ com

UL ~ U (< « N 2

| e _ave SOme . Oé\fm‘\&j% kao% R
\Ower Pmb) Ln,:k menq MDL«}\Q}\ Qroue

”‘“-.oa( mo"\e‘&o\\j I:o\ c\gj a()(’/\ Nt ‘\‘ox)(a - @\'\r\er
e iateocBud IR UL G

D;\WQ S ‘Oe_ a’\ﬁl(’ﬁcr\te)\ Em{)r\OU\ e m“% r S Crea'\ ts\\
buk T Ahee o obher omm_\vn g Costs
d‘P [N e s W \Bw‘ﬁ-n \.:v\ ro{\& . C) Oorme.

v
cloie e other  pelicy N2 ces

e Following a vague beginning
‘ the candidate’s final paragraph
Sueh 2% 5“(’{’\‘4 5 A° - potisiea for  cost. Oml" suggests undeveloped alternatives

-

CH'K}\ Cortwack :anij -(33&0}\ *(\r é@mor\cl - r)u.u to MP.
A sw)t\ (Oe_ e efotive s~ eww i

e ke Aoden by Keanenann  while.

mom\ 0\\:73%‘) Ke ‘o.‘{\n Qo\“Qﬂ—\M@\ JP monq'-\()/\zl

r)o\icq oSelian ““\e A\I)Qc;\\(o{\&cfe& . Mark for AO3 =

V) J ~

3outof 6

Mark for AO1 and AO2 =
7 out of 14

Total mark awarded =
10 out of 20
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How the candidate could improve their answer

+ The candidate needed to follow a clearer analytical process.
+ The candidate’s basic ideas presented needed to be analysed to demonstrate greater skills.
» The candidate needed to make some references to the two diagrams.
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Example Candidate Response — low
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Examiner comments

0 The candidate shows
knowledge of what MP and inflation
are.

e This paragraph is devoted to
expansionary MP and its effects on
investment/output.

o The candidate continues to
focus on expansionary MP.
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Example Candidate Responses — Paper 4

Examiner comments

The candidate focuses on the
application of MP in inflationary
circumstances, but this is
descriptive.

The candidate continues to
describe rather than analyse.
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Example Candidate Response — low, continued Examiner comments

'()l/e_.S:zml' the prL ces would elell Le
For the «Czét ors ok (wro/h_x,a_[z_i,eh_-. This Sall
‘ tosts of b

|increase b y z:’:%eb o¢ the Md[“} e ] a £ "6 @ The candidate identifies

of.Lovapoked te DErore oand. e redwce W5 government aims which would be

bece cosds £ivms way veduce Hheiv factor| | affected by the policy.

of production such os lobou. Thes wlll sansd
)

lwne vip loyiment tombatling a qovernmenl
qw_\l—oy dogrevse (L. 1{7?8,_,: ﬂ@re.g;e.m_,;. no ]
proced _and b\neMpLojmeV_lf vicing will |
Jlowev te QPP of G\,__.Q_OHMTLCL'_._....a,\,,/!!?t,_hf%@,i’_t,éo,._‘fe
e clordavd of (ivivg sovditions Sor

the cow "_'__érU\ oS o Le e- As Con Sumers G 0 The candidate continues to

L would Lepdu“tl’au naleﬁ;[ocql [5 _due _{o| | identify rather than analyse.

'ﬂvvc (J»t'l'iao Prog weers will L@OL to__ex pnrzl
Meve ano.o,, s.Mecre .y,s.,c‘nj mwe_jsqpplj
e lLL[Jl Langce quQL._!s_c,;e,!fst _ ééomue Pl er |

f wY L/LCV ggv gofe,,‘tgkteks__...._. / creo\saa:?oveql[
| Expey. k.. -LW\POV?EJ ce:m‘mfj,vr\@o te «mnb’y

M.a.g_bt’ Clleap_ef fl'&"‘ ‘_Z/Ae . 'Lze ms Aez &oZA
L Q_c,_,qs_u y. Noreover ﬁdf wagaéwel\y oﬂcecbﬂe

"“”‘l""" 2}6 ocpaym nks.

| Te wse of monbary polisy vay be
e@e LL‘D ve Cov Vnﬂl WU (e JLV\F(J\ﬁ on 1\2

J y
LOV\@QVVQY&Oé f/u %S‘Ho wé"?"}t é)él{e"él’\é Mark for AO1 and AO2 =
A govlmeaphT  Srowm LUll@leing  [he Wi |5outof14
aim S __aud P wts He _,,gcf_,\g,em et in an

lunescy e tueBlan  on w_ to a4 oo ut Mark for AO3 =

CQ"’"\LLK H—E LV\'él“\‘I'-l‘.O_'?o\V‘-DL‘L C ure o[ ue erj Ooutof 6
the inflabion ratbe ey lher _immprov e (e Total mark awarded =

Civms avd os infledion is c\LVeguik\i ]
g L

/Oé/tzr a‘bt)__,eﬁives LA 'tLe Lovtﬁef AN 5 out of 20

How the candidate could improve their answer

» The candidate wrote about the expansionary MP, and therefore reduced the time available to answer on the correct
emphasis for the question.
» The candidate’s answer needed further analysis, e.g the monetary transmission mechanism.

* The candidate needed to provide relevant evaluation.

Common mistakes and guidance

» Some candidates used diagrams in their responses, but these were unused in the text and unlabelled.
» Some candidates did not develop their analysis after the initial relevant concept(s) were identified.
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